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1132| A—F—AAK| 022-420 |ORFE-REEEN/E/KE416.5mm 33300 - = 22300 -
1132 | A—F—AAK| 022-421 |ORKE-REEN/EK418mm 35100 - = 24500 -
1132| F—5—AAF| 632-234 |OMEEARRKEN6.5mm 27,000 - = 21,000 -
1132| F—H—AAF| 632-235 |OHEABRKKE18mm 30,000 - = 23400 -
1132| A—F—A(K| 022-218 |ORKH - ®EEEN/#16.5mm 19,700 - = 11200 -
1132| A—H—ACK| 022-219 |OfFE-BEEEN/#R18mm 21500 - = 13400 -
1133| +—4&—AAFK| 075-188 SREN/2IK4/10.5MMAL(BI ) 3600 - = 4000 -
1133 | A—F—AAK| 075-189 |OFREN/E/KEF/12MMAL (I EL) 4800 - = 5500 -
1133| —&—AA/FK| 075-190 SREN/BIK4/13.5MMAL(BI ) 6000 - = 7000 -
1133 | A—H—AAK| 075-160 |OEE/E/KE15mmbL 8500 - = 9100 -
1133 | A—F—AAF| 075-161 |OEH/EKE16.5mmitL 11,000 - = 10000 -
1133| A—H—ACK| 632-222 |O#E 10.5mm $2ED 4000 - = 3300 -
1133| A—H—ALK| 632-224 |O#E 12mm FREN 5000 - = 4600 -
1133| A—H—ACF| 632-225 |O#E 13.5mm 2ED 6200 - = 5900 -
1133| F—5—AAF| 632-226 |O#E 13.5mm EH 13200 - = 6800 -
1133| F—H—AAF| 632-227 |O#E 15mm EH 14000 - = 7300 -
1133| F—5—AAF| 632-228 |O#E 16.5mm EE 16,800 - = 7,900 -
1133| F—H—AAFK| 075-176 |OERFEN/#5/10.5MML(BIELD 1,800 - = 2400 -
1133| +—&—AAFK| 075-177 SEEN/AR/12MM3L (B L) 2400 - = 3500 -
1133| +—&—AAFK| 075-178 SEEN/#R/13.5MML(AIEL) 3000 - = 4500 -
1133| F—H—AAF| 075-154 |OEE/#R13.5mm3b 5700 - = 5200 -
1133| F—&—AAF| 075-155 |OEHI/#15mmbL 6000 - = 5600 -
1133| F—H—AAF| 075-156 |OEE1/#R16.5mm3t 7200 - = 6200 -
1133| +—5—AAFK| 078-293 SREN/ 4 £/10.5MMAL (I B 10200 - = 7900 -
1133| F—&—AAF| 078-222 SREN/ 4 /12MMAL(BI &) 12,000 - = 10300 -
1133 | A—F—AAK| 078-221 |OREN/4£/13.5MMAL(AIEL) 13,800 - = 13,000 -
1133| A—H—ALK| 075-164 |OEF/4HA13.5MMAL 15700 - = 14700 -
1133 | A—H—AAK| 075-165 |OEM/4A15MMA 16400 - = 18000 -
1133| A—H—ALK| 075-166 |OEFN/4HH16.5MMAL 20000 - = 18900 -
1161 | A —5—A4(F| 640-001 |7 YIMES/THY/H77M100801 9k 2,900 (1tyh) = 3,260 (1tyh)
1161 | A—45—A4(F| 640-002 |##{EFH7UIMES/THY/BIVM100801t9k 2,900 (1tyh) = 3,260 (1tyh)
1161 | A —45—A4(F| 640-003 |fFH7YUMES/THY/7NW—(100801t9+ 3,100 (1tyh) = 3,470 (1t9h)
1161 | A —45—A4(F| 640-004 |##{EFH7UIMES/THY/5Y-2(1008)1Ey+ 3,100 (1tyh) = 3,470 (1yh)
1161| A —5—AA(F| 640-005 |7 YVMES/THY/7H7(1008)19b 3,100 (1tyh) = 3,470 (1t9h)
1161 | A—45—A4(FK| 640-006 |7 /MES/THY/IL—(100801t9k 3,100 (1tyh) = 3,470 (1t9h)
1161 | A —45—A4(F| 640-007 |7 UIMES/THY/H)-L100H)1 b 3,100 (1tyh) = 3,470 (1&yh)
1161| A —F—AA(F| 640-009 |H#E7Y/MRS/THY/EVI(100801 €9+ 3,100 (1tyh) = 3,470 (1t9h)
1161 | A—45—A4(FK| 640-010 |#EFH7UIMES/THY /79 121008149+ 3,100 (1tyh) = 3,470 (1t9h)
1161| A —F—A(F| 640-011 |H#E7YIMES/T-7 T HY /97700100801 £+ 3,200 (1tyh) = 3,590 (1tyh)
1161 | A—F—A(K| 640-012 |HEHTIIMRI/T-7THY/BIIHI10080)119b 3,100 (1tyh) = 3,470 (1yh)
1161| A —F—A(F| 640-013 |H#E7YIMRES/T-7H[HTHY/7 L—-10080)1 £+ 3,400 (1tyh) = 3,810 (1yh)
1161| A —F—A(F| 640-014 |HE7YIIMRS/T-TR/HTHY/H)-0100801 £+ 3,400 (1tyh) = 3,810 (1yh)
1161| A —F—A(F| 640-015 |#E7YIMES/T-7 T HY/7I7100801 £+ 3,400 (1tyh) = 3,810 (1yh)
1161| A —F—AA(F| 640-016 |HE7YIMRS/T-7RHTHY/5L-(1008)119+ 3,400 (1tyh) = 3,810 (1yh)
1161| A —F—AA(F| 640-018 |#EH7Y/MES/T-7 T HY/H)-L(1008) 1tk 3,400 (1tyh) = 3,810 (1&yh)
1161| A —F—A(F| 640-019 |#EH7YIMES/T-7 T HY/EVI(10080)1 £+ 3,400 (1tyh) = 3,810 (1yh)
1161 | A—F—AAK| 640-020 |HETVMRI/T-7HTHY/97 1210081k 3,400 (1tyh) = 3,810 (1yh)
1161 | A—45—A4(F| 640-021 |##{EFH7UIMES/THL/977M10080)1 €9k 2,900 (1tyh) = 3,260 (1tyh)
1161 | A—45—A(F| 640-022 |##{EFH7WIMES/THL/BIVMI008)1 9k 2,900 (1tyh) = 3,260 (1tyh)
1161 | A—45—A4(F| 640-023 |##{FH7UIMES/THL/7L—(1008)1€y+ 3,100 (1tyh) = 3,470 (1t9h)
1161 | A—45—A(F| 640-024 |£{EFH7WIMES/THL/Y-0(10080)1Evb 3,100 (1tyh) = 3,470 (1t9h)
1161| A —F—AA(F| 640-027 |#E7Y/MES/THL/IL—(1008)1t9h 3,100 (1tyh) = 3,470 (1t9h)
1161 | A —45—A4(F| 640-028 |#{FH7WIMES/THL/Y)—A(100801 19k 3,100 (1tyh) = 3,470 (1t9h)
1161| A —F—AA(F| 640-029 |H&E7Y/MRES/THEL/E V(100801190 3,100 (1tyh) = 3,470 (1t9h)
1161 | A —45—A4/F| 640-030 | {EH7YIMES/THL/99 12100801 2vh 3,100 (1tyh) = 3,470 (1t9h)
1161| A —F—AA(F| 640-031 |HE7Y/MREEER/ THY /BT MI100801 €9+ 3,100 (1tyh) = 3,420 (1yh)
1161| A —F—A(F| 640-032 |#E7V/MESEE/ THY/7 L —(1008)1yh 3,500 (1tyh) = 3,860 (1£yh)
1161| A —F—AA(F| 640-033 |HE7Y/MRIER/ THY/H)-v(1008)119h 3,500 (1tyh) = 3,860 (1&yh)
1161| A —F—AA(F| 640-034 |#E7Y/MEEE/ THY/7H701008)119b 3500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-036 |HE7Y/MREIER/ THY/H'L—-100801Ey+ 3,500 (1tyh) = 3,860 (1£yh)
1161| A —F—AA(F| 640-037 |HE7Y/MRIER/ T HY/H)-L(1008)11y+ 3,500 (1tyh) = 3,860 (1&yh)
1161| A —F—AA(F| 640-038 |HE7 Y MRIER/ THY/EVI(100801 9+ 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-039 |HE7Y/MESEE/ THY /79 121008)119h 3500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-049 |HE7Y/MESEE/ THL/BATyMI1008)1Eyh 3,100 (1tyh) = 3,420 (1t9h)
1161| A —5—AA(F| 640-050 |#E7YUMEMER/ T4L/7V—(10080)11y+ 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-051 |#E7Y/MREMEE/ T4HEL/9Y-0(10080)14y+ 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—A(F| 640-052 |7 YUMESMER/ T4L/7H7(10080)149+ 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-054 |#E7Y/MESHEE/ THL/L—-(1008)119h 3,500 (1tyh) = 3,860 (1tyh)
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1161| A —F—AA(F| 640-055 |#E7Y/MR3HEE/ T4EL/9)-A(100801 £+ 3500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-056 |#fE7Y/MRIHEE/ THEL/EVI(10080)119h 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-057 |#E7Y/MEMEE/ T4HL/99 1210080119+ 3,500 (1tyh) = 3,860 (1tyh)
1161| A —45—A4(F| 640-058 |fFH7UUMREA/THY/H77M100801 19k 2,800 (1tyh) = 3,100 (1tyh)
1161| A —45—A4(F| 640-059 |7 UIMREA/ THY/BIVM100801t9k 2,900 (1tyh) = 3,210 (1t9h)
1161| A —45—A4(F| 640-060 |%fFH7YUMREA/THY/7 V—(100801t9+ 2,800 (1tyh) = 3,100 (1tyh)
1161 | A—45—A4/FK| 640-061 |#EFHIUIMREA/ THY/5Y-2(1008)14y+ 2,800 (1tyh) = 3,100 (1tyh)
1161| A —5—AA(F| 640-063 |#E7YVMREA/THY/TH71008)119b 2,800 (1tyh) = 3,100 (1tyh)
1161 | A—5—A4(F| 640-064 |#{E7YIMRA/ THY/IL—100801t9b 2,800 (1tyh) = 3,100 (1tyh)
1161 | A —45—A4(F| 640-065 |%{FH7UIMREA/THY/H)—-LA00H)1£yb 2,800 (1tyh) = 3,100 (1&yh)
1161| A —F—AA(F| 640-066 |H &7 MRA/THY/EVH100801 €9+ 2,800 (1tyh) = 3,100 (1tyh)
1161 | A—45—A4(K| 640-067 |7 UIMRS/ THY/ 991201008149+ 2,800 (1tyh) = 3,100 (1tyh)
1161| A —F—AA(F| 640-068 |7 YVMEIEF/ THL/977M10080) 149k 3,500 (1tyh) = 3,860 (1tyh)
1161| A —F—AA(F| 640-069 |H#E7Y/MREIEAM/THEL/BATYMI1008)1Eyh 3,800 (1tyh) = 4,200 (1tyh)
1161| A —F—AA(F| 640-070 |#EH7V/MEIEM/THL/7N—(10080)11y+ 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—A(F| 640-072 |HE7YIMRIEM/THEL/JY-0(10080)11y+ 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—A(F| 640-073 |#EH7V/MEIEF/THL/TH7(10080)149+ 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—AA(F| 640-074 |HE7YIMRIEAM/THEL/IL—-(1008)1190 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—A(F| 640-075 |H#E7Y/MRIENM/ THEL/9)-L10080)1 £+ 4,000 (1&9h) = 4,270 (1&9h)
1161| A —F—A(F| 640-076 |HE7Y/MRIEM/ THEL/EVI1008)1190 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—A(F| 640-077 |H#E7YIMRIEAM/THL/99 1210080119+ 4,000 (1tyh) = 4,270 (1tyh)
1161| A —F—AA(F| 640-078 |#E7V/MEIEN/T-7 T4 L/H977M1008)1Eyb 3,800 (1tyh) = 4,290 (1&yh)
1161| A —F—AA(F| 640-080 |FE(FELEETY/MRIEAM/ THEL/BATVMI008)1Eyh 4,000 (1t9h) = 4,480 (1&9h)
1161| F—5—AAF| 640-081 |FEFLVNHEIVIMRIER/THL/7 MV—(1008)11yh 4,000 (1&9h) = 4,620 (1€9h)
1161 | A—F—A(K| 640-082 |BIFLALHEETIVMRIES/THEL/Y)-0(1008)1 €k 4,000 (1t9h) = 4,620 (1€9h)
1161| F—5—AAF| 640-083 |FEIFLHWVHEIIIMRSEM/THL/797(1008)1Eyb 4,000 (1&9h) = 4,620 (1€9h)
1161| F—S—AAF| 640-086 |FEIFLRALHEIVIMRIES/THL/EVIA008)1Hyh 4,000 (1&9h) = 4,620 (1€9h)
1161 | A—F—AAK| 640-088 |HE7UVME1/957M1008) 11k 3,900 (1tyh) = 4,390 (1tyh)
1161 | A—F—AAK| 640-090 |HEH7YVME1/BTVM10080)1 €k 4,500 (1tyk) = 5,050 (1tyh)
1161 | A—F—AAK| 640-091 |HE7YUME1/7V—(1008)1Eyh 5,100 (1tyh) = 5720 (1t9h)
1161 | A—F—AAK| 640-092 |EEH7YUME1/57-0(100%) 11k 5,100 (1tyh) = 5720 (1t9h)
1161| F—5—AAK| 640-093 |7 YUME1/TH 7100801k 5,100 (1tyh) = 5720 (1t9h)
1161 | A—F—A(K| 640-094 |HE7TUUME1/9L—-(100%)1Eyh 5,100 (1tyh) = 5720 (1t9h)
1161 | A—H—A(F - HETYIME1/PIL-(10080) 11k 6500 - = 5720 (1tyh)
1161 | A—F—AAK| 640-095 |HHE7UUME1/9)-L(1008)1 €k 5,100 (1tyh) = 5720 (1t9h)
1161 | A—F—AAK| 640-096 |HE7UUME1/EV7(100%0)1Eh 5,100 (1tyh) = 5720 (1t9h)
1161 | A—F—A(K| 640-097 |HE7UVME1/9912(100%) 11k 5,100 (1tyh) = 5720 (1tyh)
1161 | A—F—AAK| 640-099 |HE7YUME2/957M1008) 11k 3,500 (1tyh) = 3,940 (1tyh)
1161 | A—F—AAK| 640-100 |HE7vME2/B7VM10080)1 €k 3,800 (1tyh) = 4,260 (1tyh)
1161 | A—F—A4(K| 640-101 |HE7YUME2/7 1V —(1008)1Eyh 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—F—AAK| 640-102 |HEH7YUME2/57-0(100%) 11k 4,300 (1tyh) = 4,830 (1tyh)
1161| F—5—AAK| 640-103 | E7YUME2/TH 7100801k 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—F—A(K| 640-104 |HE7TUUIME2/9L—-(100%)1Eh 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—F—AAK| 640-105 |HHE7UME2/9)-L(1008)1 €k 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—F—A(K| 640-106 |HE7UvME2/E 71008011k 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—F—A4(K| 640-108 |HE7UUME2/9912(1008) 11k 4,300 (1tyh) = 4,830 (1tyh)
1161 | A—5—A(F| 640-119 |H#HEFHIUIME2/T-7 /57710080119t 4,100 (1€yh) = 5,740 (1&9h)
1161 | A—5—A(F| 640-120 |7 UUME2/T-7(/BrVM100801 19k 4,100 (1tyh) = 5,740 (1&9h)
1161 | A—5—A(F| 640-121 |H#HEFHIUIME2/T-7 /7 W—(100801 9+ 5100 (1tyh) = 5740 (1yh)
1161 | A—45—A(F| 640-122 |#HEFHIUIME2/T-7 /52100801 £y+ 5100 (1tyh) = 5740 (1yh)
1161 | A—5—A4(F| 640-123 |#EFH7UUME2/T-7 /79710080119t 5100 (1tyh) = 5740 (1yh)
1161 | A—5—A4(F| 640-124 |H#HEFHIUIME2/T-7 /7 L—(100801 9t 5100 (1tyh) = 5740 (1yh)
1161 | A—5—A(F| 640-126 |7 UUME2/T-7f/5)-L100K)1 b 5,100 (1€yh) = 5740 (1&yh)
1161 | A—45—A(F| 640-127 |H#HEFHIUIME2/T-7 -/ V9100801 19+ 5100 (1tyh) = 5740 (1yh)
1161 | A—45—A(F| 640-128 |#HEFHIUIME2/T-7 /99 121008019+ 5100 (1tyh) = 5740 (1yh)
1161| A—H—AAK| 640-110 |FEFALEHETYUME2/BE5VM1008)1 €y b 4,724 (1&9h) = 5,290 (1&9h)
1161| F—F—AAF| 640-111 |FEFLWEEIIIME2/7 V—-(1008)1 b 5114 (1tyh) = 5740 (1yh)
1161 | A—F—AA(F| 640-112 |BIFAHRVEEYUME2/97-0(10080) 1190 5114 (1tyh) = 5740 (1yh)
1161| F—F—AAF| 640-113 |FEHFLWNEHEFIVIME2/7H71008)1 1y 5114 (1tyh) = 5740 (1yh)
1161| F—F—AAF| 640-117 |FEFLEVEEZEIIIME2/E V9100801 yb 5114 (149 = 5740 (1yh)
1161 | A—F—AAK| 640-129 |HE7YUME3/957M1008) 11k 3,400 (1tyh) = 3,750 (1tyh)
1161 | A—F—A(K| 640-130 |HE7YVME3/BATVMI10080)1 €k 3,800 (1tyh) = 4,200 (1tyh)
1161 | A—F—AAK| 640-131 |HE7YUME3/7V—(1008) 1+ 4,000 (1tyh) = 4,420 (1tyh)
1161 | A—F—AAK| 640-132 |HEH7Y/ME3/5)-2(1008) 11k 4,000 (1tyh) = 4,420 (1tyh)
1161| F—H—AAK| 640-133 | &7 YUMES/TH7(10080)1Eyk 4,000 (1tyh) = 4,420 (1tyh)
1161 | A—F—A(K| 640-135 |HE7UUIME3/9L—-(100%0)1yh 4,000 (1tyh) = 4,420 (1tyh)
1161 | A —H—A(F - HEHTYUMES/PYL—-(1008) 11k 6500 - = 4420 (1tyh)
1161 | A—F—AAK| 640-136 | &7 UME3/9)—A(1008)1 £k 4,000 (1tyh) = 4,420 (1tyh)
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1161 | A—F—A(K| 640-137 |HE7UUME3/E V(10080 1Eyh 4,000 (1tyh) = 4,420 (1tyh)
1161 | A—F—A(K| 640-138 |HE7UUME3/9912(1008) 11k 4,000 (1tyh) = 4,420 (1tyh)
1169 | A —H—A(F - 1t =Y D AR EE+ (F) 6500 - = 1,710 (3)
1181| A —HF—AAF| 634-709 | ANIY—HILA— 97— 1004K 6,000 (1tyh) = 6,600 (1tyh)
1181| A—F—A(K| 634-710 |&ANIY—HILE— Lyb 1004k 6,500 (1tyh) = 7,100 (1&yh)
1190 | A—H—AAFK| 343-768 |LZRIERHTIL L - = - -
1198| A—H—ALK| L47IINOT |OA—L7L—F/ON11TH Bzl 420 - = 500 -
1198| A —HF—AAK| L47IINO1 |O#—L7L—+/ 01178 Bzl 420 - = 500 -
1198| A—H—ALK| L47YINOT1 | OA—L7L—-b/ONITH —B 420 - = 710 -
1198| A —F— ALK | L47IINO2 |O#—L7L—+/(02)14T70b%—L % 450 - = 550 -
1198| A —HF—AALF| L47IINO2 |O#—A7L—b/ 01477034 R %It 450 - = 550 -
1198| A —HF— ALK | L47IINO2 | O#—L7L—+/(02)14T70h%—L =& 450 - = 750 -
1198| A—H—ALK| L47IINO3 |Ox—L7L—+/(03)21T8 Rzl 540 - = 670 -
1198| A —HF— ALK | L47IINO3 |O#—L7°L—+/(03)21TH BeZl 540 - = 670 -
1198| A—H—ALK| L47YINO3 |O#—L7L—+/(03)21T8# —B 540 - = 875 -
1198 | A—F—AAK| LATIINO4 |OFx—L7L—b/(04)21T70%—L BEH 580 - = 710 -
1198| A —HF—AALF| L47IINO4 | O#—L7L—+/ (042177034 R %A 580 - = 710 -
1198 | A—F—AAK| LATIINO4 |OFx—L7L—b/(04)21T70F—L =B 580 - = 920 -
1198 | A—F—AAK| LAFIINO5 |Ox—L7'L—-+/(05)21TBEE+1 F%l 540 - = 670 -
1198| A —HF—AALF| L47IINO5 |O#—L7L-+/(05)21TBEE+1t Bzt 540 - = 670 -
1198 | A—HF—AAK| LAFIINO5 |Ox—L7L—-+/(0521TBEES+ B 540 - = 875 -
1198 | A—HF—AAK| LAFIINOB |OFx—L7L—F/(06)21TIBEE+IN+—L B @1 580 - = 710 -
1198| A —HF—AALF| L47IINO6 |O#—L7'L-+/(06)21TBEE+IN4—L 2B 580 - = 920 -
1198 | A—HF—AAK| LAFIINOT |Ox—L7' V- (07)21TBEE+ % 540 - = 670 -
1198| A —HF—AALF| L47IINOT |O#—L7L-+/(0721TBEE+1 Bzt 540 - = 670 -
1198 | A—F—AAK| VATIINOT [OFx—L7 V-V (0721TRES+ =B 540 - = 875 -
1198| A —HF—AALF| L47IINO8 |O#—L7'L-+/(08)21TBEE+IN4—L ] 580 - = 710 -
1198 | A—HF—AAK| LAFIINO8 |OFx—L7L—F/(08)21TIBEEZ+IN+—L R @1 580 - = 710 -
1198| A —HF—AALF| L47IINO8 |O#—L7'L-+/(08)21TBEE+IN4—L 2B 580 - = 920 -
1198 | A—F—AAK| LAFIINO9 |Ox—L7'L—-+/(09)21TBEE+ F% 540 - = 670 -
1198| A —HF—AAF| L47IINO9 |O#—L7L-+/(09)21TBES+1 Bzl 540 - = 670 -
1198 | A—HF—AAK| LAFIINO9 |Ox—L7'L—-+/(0921TBEES+ B 540 - = 875 -
1198 | A—HF—AAK | LA7IINO10 | Ox—L7'L—-b/(10)3ITBEES+ F% 7% - = 940 -
1198| A —HF —AALF | LATIINO10 | O#—L7L-+/(10)31TBEES+1 Bzt 7% - = 940 -
1198 | A—HF—AAK | LA7IINO10 [OFx—L7L—F(10)31TRES+ =B 7% - = 960 -
1198 | A—F—AAK | LA7IINO11 | Ox—L7'L-b/(11)IITBES+ % 7% - = 840 -
1198| A —HF —AALF | LATIINO11 | Ox=L7L-b/ (1) TEES+1 BRIt 7% - = 840 -
1198 | A—F—AAK | LA7IINO11 [OF—L7L-b(1)IITRES+ =B 7% - = 960 -
1198| A —HF —AALF | LATIINO12 | O#—L7 V- (12)31TBEE+IN4—L ] 70 - = 960 -
1198 | A—HF—AAK | LA7IINO12 | OFx—L7 V- (12)31TRES+IN+—L B @1 780 - = 960 -
1198| A —HF —AALF | LAT7IINO12 | O#—L7' V- (12)3TBESE+IN4—L 2B 780 - = 1000 -
1198 | A—HF—AAK | LA7IINO13 |[OFx—L7L—b/(13)21T G/ U4 % 590 - = 750 -
1198| A —HF —AALF | LATIINO13 | O#—L7L—-b/(13)21THGI V) FERI B 1 500 - = 750 -
1198 | A—HF—AAK | LA7IINO13 |[OFx—L7L—b/(13)21THGI V) =B 590 - = 960 -
1198| A —HF —AALF | LATIINO14 | O#—L7 V- 14247702 —LGIU ) %I 630 - = 800 -
1198 | A—F—AAK | LATIINO14 | O2—L7'L—b/(14)24TINF—LGAUAT) BRI 4+ 630 - = 800 -
1198| A —HF —AALF | LATIINO14 | OF—L7 V- 142472 —LGIVH) Z 8 630 - = 1000 -
1198 | A—HF—AAK | LA7IINO15 | OF—L7 L—b/(15)31TREZ+H G/ ) FZ 800 - = 920 -
1198 | A—F—AAK | LA7IINO15 | Ox—L7'L—b/(15)31TBE+H G ) Rl 800 - = 920 -
1198 | A—HF—AAK | LA7IINO15 | Ox—L7 V- (15)ITBES+HGIUT) =B 800 - = 1050 -
1198| A—&—AAFK| 5000mm |O—LA7L—k/50 % 100mm f2%l447° 850 - = 1740 -
1198 | A—F—AAK| 5000mm |ON—A7L—F/50 x 100mm fEZI54 7 & 4F 850 - = 1740 -
1198| A—&—AAFK| 5000mm |OM—LA7L—k/50 % 100mm = [B447° 850 - = 2390 -
1198| A—&—AAFK| 10000mm |OM—LA7L—k/50 % 150mm f{2%l447° 1250 - = 1950 -
1198 | A—F—AAK| 10000mm |ON—A7L—F/50 x 150mm %1547 &4+ 1250 - = 1950 -
1198| A —HF—AA/K| 10000mm |OL—L7L—b/50 % 150mm = B447° 1250 - = 2710 -
1198| —&—AAFK| 20000mm |<N—A7L—F/100 x 200mm B %0447 2500 - = 3250 -
1198 | A—HF—AAK| 20000mm |ON—A7L—F/100 x 200mm Bz %1447 € 4+ 2500 - = 3250 -
1198| —&—AAFK| 20000mm |<N—A7L—F/100 x 200mm = [B447° 2500 - = 4340 -
1198| +—&—AAFK| 30000mm |<N—A7L—F/100 x 300mm B %447 3280 - = 4340 -
1198 | A—HF—AAK| 30000mm |ON—A7L—F/100 x 300mm Bz %1447 € 4+ 3280 - = 4340 -
1198| +—&—AAFK| 30000mm |<N—A7L—F/100 % 300mm = [B447° 3280 - = 5420 -




